
Sequence 1 (14,29,47,110bp) 
 
GCTCGCCTGGTCGGCCTGCAGCTTCTCATTTCCTGCTGCTGGGCCTTTGCCTGCCATAGCACGGAGTCTTCTCCTGACTTCACCCGCAGGCCTGTTCCCT  
CGAGCGGACCAGCCGGACGTCGAAGAGTAAAGGACGACGACCCGGAAACGGACGGTATCGTGCCTCAGAAGAGGACTGAAGTGGGCGTCCGGACAAGGGA 
 
CTCCATTCTGGCTGTCTGCAGGTGAGGCACAGACCCGAGGTGACCCTGTGTGACAGGTCTTGTAGCTTCAATGAGCATGGCTACCACCTCTTCCAGGCTA 
GAGGTAAGACCGACAGACGTCCACTCCGTGTCTGGGCTCCACTGGGACACACTGTCCAGAACATCGAAGTTACTCGTACCGATGGTGGAGAAGGTCCGAT 
 
Sequence 2 (31,144,25bp) 
 
CTTGGGGTTGAGGAGATAAACAACTCCACGGCCCTGCTGCCCAACATCACCCTGGGGTACCAGCTGTATGATGTGTGTTCTGACTCTGCCAATGTGTATG       
GAACCCCAACTCCTCTATTTGTTGAGGTGCCGGGACGACGGGTTGTAGTGGGACCCCATGGTCGACATACTACACACAAGACTGAGACGGTTACACATAC 
 
CTGCCAGGGCAACACCACATAGAGCTCCAAGGAGACCTTCTCCACTATTCCCCTACGGTGCTGGCAGTGATTGGGCCTGACAGCACCAACCGTGCTGCCA  
GACGGTCCCGTTGTGGTGTATCTCGAGGTTCCTCTGGAAGAGGTGATAAGGGGATGCCACGACCGTCACTAACCCGGACTGTCGTGGTTGGCACGACGGT 
 
Sequence 3 (12,63,33,92bp) 
 
ACTACAACGAGGCCAAATGTGTCACCTTCAGCCTGCTCTTCAACTTCGTGTCCTGGATCGCCTTCTTCACCACGGCCAGCGTCTACGACGGCAAGTACCT 
TGATGTTGCTCCGGTTTACACAGTGGAAGTCGGACGAGAAGTTGAAGCACAGGACCTAGCGGAAGAAGTGGTGCCGGTCGCAGATGCTGCCGTTCATGGA 
 
GCCTGCGGCCAACATGATGGCTGGGCTGAGCAGCCTGAGCAGCGGCTTCGGTGGGTATTTTCTGCCTAAGTGCTACGTGATCCTCTGCCGCCCAGACCTC 
CGGACGCCGGTTGTACTACCGACCCGACTCGTCGGACTCGTCGCCGAAGCCACCCATAAAAGACGGATTCACGATGCACTAGGAGACGGCGGGTCTGGAG 
 
Sequence 4 (81,119bp) 
 
GCGCTGCGGCTCCACCTGACCAGTGGGTCAGCAGGCACGGCTGGCAGCCTTCTCTGCCCTGAGGGTCGAAGGTCGAGCAGGCCGGGGGTGTCCGGGAGGT  
CGCGACGCCGAGGTGGACTGGTCACCCAGTCGTCCGTGCCGACCGTCGGAAGAGACGGGACTCCCAGCTTCCAGCTCGTCCGGCCCCCACAGGCCCTCCA 
 
CTTTGGGCATCGCGGTCTGGGGTTGGGACGTGTAAGCGCCTGGGAGAGCCTAGACCAGGCTCCGGGCTGCCAATAAAGAAGTGAAATGCGTAAAAAAAAA 
GAAACCCGTAGCGCCAGACCCCAACCCTGCACATTCGCGGACCCTCTCGGATCTGGTCCGAGGCCCGACGGTTATTTCTTCACTTTACGCATTTTTTTTT 


